Deﬁnce murum

NDA 2 2025 GAT SAMPLE QUESTION PAPAER

Time: 120 min.
INSTRUCTION: Read questions carefully. For each wrong answer, one-third (1.33) of the marks assigned to that

M.M.:600

question will be deducted. Each question contains (4) marks / 757 &I 717 & 4@ 7% Toid ¥ & [olg, OV F97 &
fory fAEriRea i@l d & v 19878 (1.33) i &I 0T | Fd F97 H (4) 3F &

Part—1

Directions: Each item in this section consists of a
sentence with an underlined word followed by four
words. Select the option that is opposite in meaning to
the underlined word and mark your response on your
Answer Sheet accordingly.

1.

The nation was gaining ground at this time as the
acceptable and legible idiom of collective political
demands.

(a) Incomprehensible

(b) Intelligible

(c) Decipherable

(d) Readable

Among its distinctive features is a conflation
between land, a national (ised) language, and a
people.

(a) Amalgamation

(b) Meld

(c) Constituent

(d) Emulsion

The partners maintained an amicable relationship
after selling the business.

(a) Amiable

(b) Gracious

(c) Mellow

(d) Surly

For clinicians under the occupation, whose
patients were dying from hunger, this presented an
ethical quandary and a personal dilemma.

(a) Quagmire

(b) Predicament

(c) Certainty

(d) Tranquility

The CEO has been praised for his adroit
management of the company's financial recovery.
(a) Gauche

(b) Skillful

(c) Dexterous

(d) Ambidextrous

The earthquake destroyed thousands of people’s
lives but I was struck by the incredible resilience
of the survivors | met.

(a) Potency

(b) Tenacity

(c) Weakness

(d) Obstinate

This process taught me the importance of being a
ruthless editor. | learnt that if a piece of
information can be deleted without impacting the
narrative flow, then it didn't belong there.

10.

(a) Compassionate

(b) Boorish

(c) Acrimonious

(d) Callous

With little access to medical care, many of them
succumbed to exhaustion, starvation and disease.
(a) Capitulate

(b) Battle

(c) Defeated

(d) Sonorous

A frugal lifestyle doesn’t have to mean a deprived
lifestyle.

(a) Parsimony

(b) Niggardly

(c) Spendthrift

(d) Thrifty

A sedentary lifestyle could increase your levels of
exhaustion.

(a) Dormant

(b) Apathetic

(c) Somnambulant

(d) Animated

Directions: In this section, each question has a three
parts labelled (a), (b), and (c). Read each sentence to
find out whether there is any error in the underlined part
and indicate your response in the Answer Sheet against
the corresponding letter, i.e., (a), (b), (c), or (d). If you
find “No error’, your response should be indicated as (e).

11.

12.

13.

14.

15.

(a) Despite of the simplicity

(b) Of production both Oldowan and Acheulian
(c) Tool-making process activate

(d) Different parts of the brain.

(a) The later tend to play

(b) Like an intro to his benighted

(c) Celebrity Apprentice: stolid, explicit

(d) And exhausting.

(a) From the moment he arrived

(b) There its citizens resented him

(c) And his Martians and

(d) His youth and his talent.

(a) Fortunately, global wealth and

(b) Technology allow us

(c) To better prepare and respond

(d) To natural disasters.

(a) As global populations have grown

(b) And people have crowded into risk zones
(c) — Like earthquake areas and flood plains —
the toll of natural

(d) Disasters have grown as well.
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16.

17.

18.

19.

20.

(a) According to the Centre for Research on
Epidemiology of Disasters,

(b) The number of catastrophic
(c) Events have more than

(d) Doubled since the 1980s.
(a) The landlord

(b) Requested that John

(c) Comes out of

(d) The apartment immediately.
(a) India needs free,

(b) Fair, non-hyphenated and
(c) Questioning journalism even more as
(d) It faces multiple crisis.

(a) This bank

(b) Has been built in

(c) 1995 by a small group

(d) Of merchants.

(a) Since they got late,

(b) It grew late and

(c) They decided to put at

(d) A nearby hotel.

Directions: Each item in this section consists of a
sentence with a blank followed by four words. Select the
option that is aptly fit in the given blank and mark your
response on your Answer Sheet accordingly.

21.

22.

23.

24,

25.

The plot of the story thickens when the main
character’s turns out to be a
wanted criminal.

(a) Lugubrious

(b) Doppelganger

(c) Lovelorn

(d) Woeful

“I’m not willing to my friendship
with Camille by lying to her,” said Luis.

(a) Jeopardize

(b) Dismayed

(c) Distraught

(d) Wriggle

Any insect unlucky enough to land on the mouth-
like leaves of an Australian pitcher plant will meet
a end.

(a) Teary-eyed

(b) Mewling

(c) Grisly

(d) Grizzly

A number of serious disorders, such as sickle cell
anemia and Huntington’s disease are caused by
genetic

(a) Anomalies

(b) Eccentricity

(c) Ebullience

(d) Ecclesiastics

At an early age, when grammar school teachers

were struggling to the lesson that
effort was the main key to success in school.
(a) Evade

(b) Dubious

(c) Quaint

(d) Inculcate

26.  She gave him her most smile and
stepped out of the hallway.
(a) Surprising
(b) Fetching
(c) Irritated
(d) Confused
27. It’san cloud, a phenomenon occurring
right in our own atmosphere.
(a) Iridescent
(b) Azure
(c) Seaweed
(d) Pandemic
28. Famed actor Phylicia Rashad is returning to her
as the new dean of the Howard University
College of Fine Arts.
(@) Alumni
(b) Pagan
(c) Barogue
(d) Alma mater
29.  As people grow older, they begin to on
the uncertainty of life.
(a) Ruminate
(b) Vivid
(c) Daunt
(d) Fiasco
30. He seemed burdened with thoughts
and dark visions as he wrestled with his pursuing
demons.
(a) Heterodox
(b) Sonorous
(c) Melancholic
(d) Wacky
Directions: Given below are some idioms/phrases
followed by four alternative meanings to each. Choose
the response (a), (b), (c) or (d), whichever is most
appropriate expression and mark your response in your
answer sheet accordingly.
31.  Out of the woods
(a) Deliberately and without emotion
(b) Out of the forest
(c) Out of control
(d) Out of danger
32. Call a spade a spade
(a) An important person
(b) Blunt and direct
(c) In a state where one does not know what to do
(d) To tackle a problem in a bold and direct
fashion
33.  Atdaggers drawn
(2) Bitterly hostile
(b) To tackle a problem in a bold and direct
fashion
(c) Keep one at a distance
(d) Have a secret plan in reserve
34. Bark up the wrong tree
(a) Confess — especially when a person has done a
wrong thing
(b) Accuse or denounce a person
(c) Waste one’s efforts by pursuing the wrong
thing or path
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(d) To act foolishly or inconsistently
35.  Atone’s wit's end
(a) Completely puzzled or perplexed
(b) Tired
(c) Work or study hard
(d) Without hope
36. Have a card up one’s sleeve
(a) Do or say the exact thing
(b) To make a supreme effort
(c) To act foolishly or inconsistently
(d) Have a secret plan in reserve
37.  Cock and bull story
(a) Ask for the impossible
(b) Made up story that one should not believe
(c) Just at the last moment
(d) Talent for speaking
38. Take a leaf out of one’s book
(a) Just at the last moment
(b) Make money unfairly
(c) Desert one in difficulties
(d) Imitate one
39. Smell arat
(a) Suspect something foul
(b) Disturb the work
(c) Understand the hidden meaning
(d) Run away
40.  Bury the hatchet
(a) Dwell on the same subject
(b) Destroy in the early stage
(c) End the quarrel and make peace
(d) Put or do things in the wrong order
Directions: Each item in this section consists of an
underlined word in given sentences. Each sentence is
followed by four words. Select the word which is most
similar in meaning to the underlined word and mark
your response in the Answer Sheet accordingly.
41.  Suddenly there was a bright flash, followed by a
DEAFENING explosion.
(a) Dangerous
(b) Terrifying
(c) Mild
(d) Very loud
42. He showed EXEMPLARY courage during the
crisis.
(a) Usual
(b) Durable
(c) Commendable
(d) Some
43.  When the new teacher entered the classroom, he
found the pupils RESTIVE.
(a) At rest
(b) Idle
(c) Quiet
(d) Impatient
44.  There is no DEARTH of talent in this country.
(a) Scarcity
(b) Availability
(c) Plenty
(d) Absence
45.  The servants RETIRED to their quarters.

46.

47,

48.

49,

50.

51.

52,

(a) Entered
(b) Went away
(c) Ran away
(d) Mobilised
The navy gave TACTICAL support to marines.
(a) Sensitive
(b) Strategic
(c) Immediate
(d) Expert
A genius tends to DEVIATE from the routine way
of thinking.
(a) Dispute
(b) Disagree
(c) Distinguish
(d) Different
He was greatly DEBILITATED by an attack of
influenza.
(a) Depressed
(b) Weakened
(c) Worried
(d) Defeated
His efforts at helping the poor are LAUDABLE.
(a) Welcome
(b) Sincere
(c) Good
(d) Praiseworthy
His conduct brought him REPROACH from
quarters.
(a) Rebuke
(b) Sympathy
(c) Indifference
(d) Remorse

Part— 11
A meteorite is: /SehIfUS &
(a) A comet with a bright gaseous tail./ = ®Tetr
I Yo are gwaq |
(b) A piece of matter that burns and gets
converted into ash as it enters the Earth’s
atmosphere from outer space./ ugrel & T& ghHST
ST e SfAReT & gl & aRgHed # Ud FRd Bl
ST ST & iR v # uRafida & Sar 2
(c) A piece of matter that does not burn
completely and reaches the surface of the Earth./
uaref BT U Chel Wil I R8I Fel Sierdl 3iR
gedl @) s dd Ugd Il B |
(d) None of the above./ STRKIE # | I 7T |
What is the difference between asteroids and
comets? / geUs 3R gHDG & drd AT AR 87
1. Asteroids are found between Mars and Jupiter,
whereas comets are in the outer fringes of the
solar system./ &gUg #Tel 3R ggw@fd & dr= w
S §, Safd gAdg AR Hed & ared AR W)
T ST € |
2. Asteroids are gaseous in nature, whereas
comets are not./ gg¥E UHfa ¥ I B 8 Safs
gHD] Tl Bl |
3. Comets have a tail, while asteroids do not./

gAGISI @ IB 8RNl &, STafd sl &1 T8 |
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53.

54,

55.

Which of the statements given above is/are
correct?/ $uR 3T Y wEi # A DA AT/H FA
2/8°

(@) 1 and 2 only/@aat 1 3R 2

(b) 1 and 3 only/@ad 1 iR 3

(c) 3 only/@aa 3

(d)1,2and 3/1, 2 3R 3

Which of the following statements about our
universe is/are correct?/ TR F&ll€ & IN H
frfafed # 9 @9 91/9 o+ 98 8 /87

1. Our universe is in the state of expansion./ 9RT
FeIve R @ Refa # 2

2. Light waves are used to study the distant
galaxies present in the universe./ TTer T &I
SUINT F8T€ # AINE YR MBS BT e
IR B forg fomar rar 2 |

3. Sound waves are used to measure the distance
among various celestial bodies./ &af T 1
IWIRT A= @il fiei & 4= &1 g0 A &
forg fopam Sar ?1

Select the correct answer using the codes given
below:/ s fAY T BIe & ITART TR T IR
T+
(a) 2 and 3 only/ @aet 2 3R 3

(b) 1 and 2 only/ &ae 1 3iR 2

(c) 1 only/@ae 1

(d)1,2and 3/1, 2 3R 3

Consider the following statements:/ F=tferRaa
AT W AR B

1. Comets have highly elliptical orbits that bring
them close to the Sun, often beyond the orbit of
pluto./ EASTRAT BT HEATY NS IFUSTHR B &
Sl S8 P B 9 AR B, AR T DI Bel A
|

2. Solar wind is responsible for the formation of
tails in comets./ §R U= gHOgaA § B & FHT
% forg RRR B

Which of the statements given above is/are
correct?/ WX foU U ®oEl § F I A/ F AL
2/8°

(a) 1 Only/a&aet 1

(b) 2 Only/ @aet 2

(c) Both 1and 2/ 1 3R 2 &I

(d) Neither 1 nor 2/ dr 1 3fR = &1 2

Consider the following statements about our
universe:/ AR FElle @ IR H FrfaRad wodl W
fooR a%:

1. Our universe was formed 9 billion years ago./
TART IBI0€ 9 ARG aY Ugel §17 o |

2. Light waves help in determining the distance
among celestial bodies./ T@rer O 3T el
% dr9 g iR T H Ae] Fl B |

3. Our solar system is in a continuous state of
expansion./ TIRT IR #igd FRaY foar @t Rerfa
I

Which of the statements given above is/are
correct?/ $uR 3T Y wE # A B AT/H FE
2/8°

(@) 2 and 3 only/ @aet 2 31R 3

56.

57.

58.

(b) 1 and 2 only/ &aet 1 3fR 2

(c) 2 only/ ®aet 2

(d)1,2and 3/1, 2 3R 3

What is the difference between asteroids and
comes?/ gsUs 3R ggus ¥ 9T IR 87

1. Asteroids are small rocky planetoids, while
Comtes are formed of frozen gases held together
by rocky and metallic material./ gs3E BIC =
TE €, Tafd Bired a3k o1g ARl g7 U
[T ST g8 O g8 T 9 9 €

2. Asteroids are found mostly between the orbits
of Jupiter and Mars, while comets are found
mostly between Venus and Mercury./ &gug
PR FEwlcr 3R HTeT Bl Pefll & da gy
T €, Safdh grsg JMfidhdR Yh AR 9 & 94
qTY ST € |

3. Comets show a perceptible glowing tail, while
asteroids do not./ gHeg TH W THEHI YB
fe@n €, Safe geus 8l e g |

Which of the statements given above is/are
correct?/ SR U T ®oAl H | B AT/ F Al
2/%?

(a) 1 and 2 only/ @aet 1 iR 2

(b) 1 and 3 only/ @aat 1 3R 3

(c) 3 only/ ®aa 3

(d)1,2and 3/1, 2 3R 3

A person stood alone in a desert on a dark night
and wanted to reach his village, which was
situated 5 km cast of the point where he was
standing. He has no instruments to find the
direction, but he located the pole star. The most
convenient way now to reach his village is to walk
in the direction./ & =afth & SERT Id # RRA
H arhell Wl AT SR (U Ta Teb Yge ATsd o,
S 9 wIF 9 5 {6 R Rerd o1 W@t a8 @wr
o | I9d U = S & foly PIg Iu@R0T 81
off, offdhl SE gd AR HT TaT o fordT | 31d I1ab
Mg T Ugd BT G GAerTd el Ugel
I B 2 |

() Facing the pole star /gfa R @1 3R & b
(b) Opposite to the pole star./ ga TR & AU |
(c) Keeping the Pole Star to his left./ ga ar &1
AT IRT 3IR G |

(d) Keeping the pole Star to his right./ ga dR &r
U TRl SR AT |

Which of the following is/are cited by scientists as
evidence for the continued expansion of the
universe?/ sgTie @ fRER fORAR & 90T & w9 |
Jemtel g1 f=faRaa § & faa Sga fear
2/%?

1. Detection of microwaves in space/ 3idRer #
HISShIId BT gl ST

2. Observation of red shift phenomenon in space/
JfaRer # ol faReMU= ge1 &1 Jaaldd

3. Movement of asteroids in space/ sidRer #
gauel @l T

4. Occurrence of supernova explosions in space./
JfARer 3 FuRArEar fawpie &1 aen.
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59.

60.

61.

62.

63.

64.

Select the correct answer using the codes given

below:/ 1 QT T Bl & ITINT TS Tl IR

T

(@) 1and 2 only/ @aet 1 31 2

(b) 2 only/ @aet 2

(c)1,3and 4/ 1, 3 3R 4

(d) None/ ®18 =&

Tropical Evergreen forest Receive heavy Rainfall

(____than___ cmannual Raingall.)/ Swrsfceeda

WSGER a1 § WY 997 g © (@nffs awi |

o ol Bl R )

(a) Less, 100/ &4, 100

(b) More, 200/318ra, 200

(c) More, 150/ 31f&r®, 150

(d) Less, 199/ &4, 199

The Himalayan Range is very rich in species

diversity. Which one among the following is the

most appropriate reason for this phenomenon?/
St oTferat @) fafderar # 9gd wgg 2

Frafiad 3 Q S @1 9 "l & Fad UG

BROT 7?7

(a) It has a high rainfall that supports luxuriant

vegetative growth/ 398 S=a auf g1l § ST IFER

gaf e &1 qHede BRedl

(b) It is a confluence of different bio-grographical

zones/ g faff=1 Stlg—iiMifera &= &1 974

(c) Exotic and invasive species have not been

introduced in this region/ s &= # fageft &k

3MMShTAD USRIl T URT =1e foram Tam B |

(d) It has less human interference/ SH AFdRI

TEIET B 7§

Deforestation results in:/ @<t &7 werg BT gROTH

2

1. Flora destruction / a=afcri &1 famer

2. Fauna destruction/ Sfra—siqail &1 fa=mer

3. Ecological dishalance/ uriRRerfcre srdqer

(@) 2and 3/ 2 3R 3

(b)1,2and 3/1, 2 3R 3

(c) 1 only/ &adt 1

(dyland3/1 3R 3

The trees of forest shed their leaves once a

year./ ST & US 9Tl § Udh 9K S7U URT

firma €|

(@) Thorn/ ®fer

(b) Deciduous/gofurehy

(c) Mountain/ gda

(d) Tidal / sarra

Sundarbans is an example of / g<xa BT

SHEEE

(a) Mangrove forest /#ura a9

(b) Mountain forest/ Ggr$! SiiTel

(c) Desert forest/ YRR SiTet

(d) None of the above/ STRIh # & I &

Which is the smallest migratory bird from Arctic

region that travel over 8000 km to reach India?/

AMMBHfeH &3 BT Fdd BIST Yardl gefl &I a1 g i

8000 f&¥ &1 31fdI® @1 ATAT TR MRA UgAAT &7

(a) Pelican / uferd=

65.

66.

67.

68.

69.

70.

(b) Little stint/ ®reT BTrd®e

(c) Hummingbird/ gffiFree

(d) Siberian crane/ ATaRIT H

The free found in the Mangrove forest is/ #ura a1
# Ul S 9Tl 95b ©

(a) Mango / 39

(b) Sundari / g=&t

(c) Rosewood / =frerH

(d) Bamboo / a1

Snow on mountain does not melt all at once
because/ TgT€ W M TS R # &1 feerar aifs
(a) Ice has constnt specife latent heat of fusion/aw
# o @1 e 7@ e Bl §

(b) Ice has high specific latent heat of fusion/aw #
Ao &1 falkre T« S &1fdd eril ©

(c) Ice has low specific latent heat of fusion/a® #
Hord @ fafdre o S w4 B @

(d) None of these /g5 & TS &1

What is the relation between specific heat
capacity(C”) and heat capacity (c) of a body of
massm? / m SIAH arel fie &1 falre S evar
(C) 3R ST &aT (c) & dra Fa7 HaeT 27?

@cCc" =c/m
(b)C'=mxc
(c)C=c'"/m
dCc=mxc

A Particle travels A to M alongs a straight line
with a velocity of 8m/s and M to A with a
velocity of 2 m/s, then the average velocity for
the whole journey is- / T& & U& iRl x@m # A
A MTH8m/sD ITAJNM M AT AdTH 2m/s,
& T F ATAT HRAT &, Al T IS BT AT 9T 58—
(@ 3.2m/s

(b) -5m/s

(c) —3.2m/s

(d)om/s

A particle is moving so that its displacement s is
givenas s = t3 — 6t2 + 3t + 4 meter. Its
velocity at the instant when its acceleration is zero
will be-/ T& &1 $9 UHR 7T AR &1 8 & a1
faeemus s = t3 — 6t% + 3t + 4 Hiek 2| 99 sHS
RN Y BN QI Achlel SHDBT 9T BT—

@) 3m/s

(b) —12m/s

(c)42m/s

(d) —9m/s

A particle initially at rest moves for 40 seconds
under the influence of a constant force if the
distance travelled by the particle is S; in the first
twenty seconds and S, in the next twenty second,
then/ T& &7 U9 # ReR 91 @& uwra # 40 Wdhe
qd IR AT & AfQ BT gRT TF Bl T8 G Uged
99 Ahs H S; 3R orTal 4 A H S, ',

(@S, =5

(b) S, = 25,
(c) S, =35,
(d) S, =4S,
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71.

72.

73.

74.

75.

A roket is projected vertically upwards and its
time- velocity graph is shown in the figure. The
maximum height attained by the rockect is-/ T®
Jde DI Faad SR BT MR YeIfdd fhar 1 g 8k
SIS T4 % o ¥ f@mar w2 Afae
SRT U JIf¥rdad $ars 2—

1000

v
(m/sec)

20 ¢(se0) 120\

(@) 1 km

(b) 10 km

(c) 100 km

(d) 60 km

A particle moves in the X — Y plane under the
influence of a force such that its linear momentum
is B(x) = A[i cos(kt) — j sin(kt)] where A and k
are constants. The angle between the force and

momentum is/ Y& &oT fll 91 & gWa H X — ¥
T H 39 IR T HRar 2 b @1 IRad o
“P(x) = A[icos(kt) — jsin(kt)] & 5&i 4 3R k
Rerie €| 9o 3R FIT & g &7 D17 B

(@ 0° (b) 30°

(c) 45° (d) 90°

A body of 2kg has an initial speed 5m/s. A force
act on it for some time in the direction of motion.
The force (F) ..... time (t) graph in shown in
figure. The final speed of the body is /2
four & v fis @ RS 717 5m/s 21 Th 9
T BT e H /Y I B oY 9 W BRI BRI
21 9et (F) ... @73 () 9% = # fewmar o
g IR 3l ifeH Tfy ——— 2

F(N) T

a

2.5

I PR
a 2 4 45

65 4(s)
(@) 9.25ms™1 (b) 5mst
(c) 14.25 ms™1 (d) 4.25 ms™t

An electric heater of rating 1000W is used for 5
hrs perday for 20 days. What is the electrical
energy utilized? / 1000W T &1 wah fagld gex
20 fe=t & wfafes 5 € SuaRT foHar Smar 21
SN B S arell fAgfd ol w®m 27?

(a) 100 kWh

(b) 200 kwWh

(c) 120 kWh

(d) 500 kWh

Which of the following statements is true?/
frforRaa & 9 319 A1 $o9 9 &7

(a) A convex lens has a divergent action, and a
concave lens has a convergent action./ Sdel o |
JURY foham Bl 2, 3IR sfaael o SIART
foram Bt 2

76.

77,

78.

79.

80.

(b) A ray of light parallel to the principal axis of a
lens passes undeviated after refraction. < ©
TR 31eT & FAMIOR THTY Bl fBR0T uaa= & 918
=T faafera gg Torelt 21

(c) A ray of light incident at the optical centre of
the lens passes undeviated after refraction./ o<1 &
ifftchdl &g UR ST UHTeT &F fHRoT 3rgacs &
qrg uRafdd o 21

(d) A concave lens forms a magnified or
diminished image depending on the distance of
the object from it./ T& s/@ae ofd 9% A IHD!
R B MR W (& Jaffd a7 8IS B g4 2|
What will happen to the focal length of a lens if
half part of its is covered with some coating?/ afa
food o &1 e W7 fvl 9 ¥ @@ fear Sy A
SIB] BIdhel @idls T BIET?

(a) Focal length will become half / ®wiea arg
armef &1 gt

(b) Focal length will become 4 times/ ®Ide <id1E
4 AT & QT

(c) Focal length will become 2 times/ B dTg
2 AT 8 et

(d) Focal length will remain the same/ ®Idel waTs
HAT

An engine uses 30A of current. The resistance
offered is 15 ohms. Calculate the power consumed
by the engine in horse power./ T& %9 30 | fagfd
RT BT JUANT FRAT & | IRATfad TR 15 M 2 |
9 §RT @Ud & T3 ARG B TOMET AaeIfch H
|

(@) 18 hp

(b) 19 hp

(c) 17 hp

(d) 13500 hp

What is the continuity equation for compressible
fluid?/ Sdifsa ga @ forg FRARAT |\ &= &7
(8) p141Q1 = p2450;

(b) [p1A1V1]? = [p2A4, V-]

(€) p1A1Vy = p2 4,V

(d) p1V1 = p2 Vs

A Pipe of cross- sectional area of 100mm? carries
water at a velocity of 25m/sec. Then this pipe
branches into two pipes of cross-sectional area
50mm?. The velocity of water in the first branch
is 10m/sec. What is the velocity of the second
pipe? / 100mm? & H—FRHd &5 & TH uisy
25m/sec & I W UMl of Al g | fhr Ig ugy
50mm? HA—JRF &3 & &l urgdl H fawiora
B SIAT & | Ugell 9mar § U &7 9 10m/sec €1
AR UTSY BT 9T T 87

(@) 40 m/sec

(b) 10 m/sec

(c) 12.5m/sec

(d) 25m/sec

Principle of continuity is based on conservation
of:/ fFRa=aT &1 Rigia fFas dRefor wR 3meTRa &
(a) Energy / o1t

(b) Mass / a1a

(c) Both 1and 2/ 1 ik 2 gMf
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81.

82.

83.

84.

85.

(d) None of the above / SIRIKh # & ®I3 &1

A jar is filled with two non-mixing liquids 1 and 2
having densities p, and p, respectively. A solid
ball, made of a material of densityps, is dropped
in the jar. It comes to equilibrium in the position
shown in the figure. Which of the following is
true for p;, p, and p3?/ TH SR QT IR—As07 TR
garef 1 3R 2 I WRI BT & RHdI 89 o pg
3R p, | O p3, H AFET H 941 P SN Tig
BN IR H STt ot & | o # e 18 Refa #
g e H o e & | FEfeiad § | B A
p1,p2 3R p3 B fo0 W &7

(@) p1 < p2 < p3

(b) p1 > p3 > p,

() p3 < p1 < p2

(d) None of these/ s+ & @I =&

Specific gravity of a body is humerically equal to/
T fie &1 faRie Toa = BU I aRER
BT ©

(a) Relative density of the body / IRIR &1 HTUer
BRI

(b) Density of body in water/ =it # INR & T4
(c) Weight of the body in water/ It IR &7
ESE!

(d) Weight of the body in air/ a1 % TRR & aoi=
Which of the following statements is correct
regarding the latent heat of fusion and the latent
heat of vaporization of a substance?/ f&=iT ugref &
HATT B [ FHT 3R ITIHRI BT T ST &
ey # fyfaRad & & B9 A1 HUF A& 87

(a) The latent heat of fusion is greater than the
latent heat of vaporization/ et &1 [w AT
GIHRT BT [ ST I 3D Bl

(b) The latent heat of vaporization is greater than
the latent heat of fusion/ arfiesRor &1 [uq HwAT
HATT B T ST & 3fdw &Il 8

(c) Both latent heats are always equal for all
substances./ ¥ TeTit & forg SMT W HEATY
SECACCIERSCI

(d) There is no relationship between the two./ ST
% 9 DS e T8 2

During a phase change, what happens to the
internal enegy of a substance?/ @=vr gRad= &
SR, fheft gemetl @1 iaRe ol &1 w1 gar 872
(a) It decreases / 98 gedl &

(b) It remains constant /ag ReR gar &

(c) It increases / 71§ 9gaT &

(d) If fluctuates unpredictably / afe srareaRid wyu
I SAR—TISM BIAT &

The intensity of sound wave is proportional to/

&afy I @I fegar FATT 8 8

86.

87.

88.

89.

90.

91.

(a) Square of velocity and amplitude of vibration/

AT BT T 3R FHUT BT MM

(b) Square of frequency & amplitude of vibration/

HUT DT AR AR AT BT T

(c) Square of frequency & velocity of vibration/

HUA DI IMIRT 3R T BT It

(d) Square of frequency and area of vibration/

JAGRT BT G 3R HUA BT &3

The pitch of sound increases if its frequency/ eafs

BT AGRT I TR IABT TR d¢ Sl &

(a) Increase / gfg

(b) One-fourth / ga—dterg

(c) Decrease/ &HT

(d) One/ a1

There are 4 resistors, each having the same

resistance of 4 ohms. These are first connected in

series with a cell of internal resistance 2 ohms.

Then, they are connected in parallel to the same

cell. Find the ratio of the respective currents in the

two cases./ 4 URRIE® 2, Td &1 IR 4 3

T 2| 2 Ugd 2 3N RS UfeRi arel 9o &

A1 el # ST oA 2 | R, ue & 9 @

FAFIGR s gU © | am1 Refadl § Hafda it

BT U ST B |

(a) 1:8

(b) 1:7

(c) 1:6

(d) 6:1

'n’ cells have emf ‘e’ and internal resistance 'r’

and connected to an external resistance 'R’. They

pass the same current whether the cells are

connected in series or in parallel to each other.

Then which of the following conditions are true?/
n' HIHERT # UATE ‘e iR sraRs uferiy 'r

@ﬁ%sﬁ?aﬁﬁqﬁﬁa 'R'. & ST BN B | AR

PIRIBIT STAT H I B AT U GO & FAMIK,

ITH T GRT Hared Bl © | df R fr=ferRaa |

| o A Rafort w1 8?2

@R=r
(b) r =nR
(©)R =nr
(d) R = n?r

In damped Vibration which force act on vibrating
body/=H ®U_ # ®IF AT g HUYT HIA dTel INR
W H BT B

(2) Restoring force/del 98Tl ®RAT

(b) Frictional force/ ervor 9o

(c) External periodic force/ arg<l amafers gt

(d) Both (a) & (b)/ &I (a) 3R (b)

If frequency of external force is equal to natural
frequency, the amplitude of oscillation is/ afe ar=x
Tl 1 IMRT UTPHad MIRT & SRIER 81, Al Al
HT AT BT B

(a) Small/ ®rer w1

(b) Large/ ss1

(c) Zerol Ta

(d) Equal/ s=TeR

What is the function of the cilia in cells?/
PIrmmell # faferar &1 w1 a1 87
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92.

93.

94.

Lo

96.

97.

(a) Cell movement/ ®if3reT w1fey

(b) Protein synthesis/ A= Heetor

(c) Lipid synthesis/ feifurs eerwoT

(d) ATP production/ T&Idr Ieures

Which of the following is NOT a function of the
mitochondria?/ fFr=feRad # | @4 @
AGSIHI~gdT & HTH T8l &7

(a) ATP production/ T&rd IeTe=

(b) Cellular respiration/ ek ¥aa+

(c) Calcium storage/ dfeer™ WeRoT

(d) Apoptosis regulation/ TareIRa fafze
What is herd immunity?/ m{ge gfcrer @ 87
(a) The proportion of individuals in a population
who are vaccinated against a disease/ f<t rardT
# 37 @Al &1 orgu e 5 dmr & Raers
SIdT T AT

(b) The proportion of individuals in a population
who are naturally immune to a disease/ ST #
FfhAl BT U ST W[rTdd wY A AT dHmy
| uforfeara €

(c) The point at which enough individuals in a
population are immune to a disease that it is
unlikely to spread/ a8 fdg Sta f&T smarar #
g gfih el AN 9 ufoRferd B € ek Suae
Bl @ FATaT el Bl ©

(d) The total number of individuals in a
population who have been infected with a disease/
el rmardl # fvll MR | Hefia afeal @
Bl TRAT

Which of the following portion of the stomach
opens into the small intestine? / Ue &1 f=ifalRaa
# 9 BIF |1 WET BIST 3fd # Gerdr 27

(a) Cardiac portion/gsa 9T

(b) Fundic portion /% R

(c) Pyloric portion/ urgeiiRe HTT

(d) Body portion/ IRR T f2war

Blood group was discovered by which of the
given options?/ & FE @1 @il Ay Ty faweal #
H frad gg?

(a) Robert Koch/ 3fac a4

(b) Landsteiner/ eiexi=R

(c) William Harvey/ faferm &rd

(d) Louis Pasteur/ gs ure=r

A rise in blood cholesterol may lead to a
deposition of cholesterol on the walls of blood
vessels. Thish causes the arteries to lose their
elasticity and get stiffened. This is called/ =%
DI H glg A Wb Aledrsi dl AR )
PleRgll O B Ahdl © | 399 gH=i ero+l ofra
@1 <l 2 3R ¥ 8 WKl 8 | I8 dEl Wil
(a) Hypertension/ S=a =harg

(b) Hypotension/gTgurcer

(c) Arteriosclerosis/ /=TT

(d) Systolic pressure/ RReiferes <@

Match the type of fruits listed in Column I with
the examples listed in Column Il. Choose the
correct combination. / ®fer | § JAlag Hall &
yBHR BT dicd || ¥ gdiag Iamexol 9 FAan | |98

98.

99.

100.

101.

102.

103.

Column | Column 11
Pl | Eacilll
(a) Capsule (p) Paddy
Do T
(b) Berry (g) Mango
EEll M
(c) Drupe (r) Sunflower
X AR
(d) Cypsela (s) Tomato
Ryeyer THER
(t) Lady finger
IEE]

@) a-t, b-s, c-q, d-r

(b) a-t, b-r, c-p, d-q

(c) a-s, b-t, c-q, d-r

(d) a-p, b-q, c-r, d-t

Leaf lamina is reduced in: / =il @ wRa &H &
IR

(a) Hydrophytes / EggIwgcH

(b) Mesophytes / FRATwGIESH

(c) Xerophytes / SRIGTSSH

(d) Epiphytes/ TfUwrsed

In potato food is stored in / 3T # 41T &7
HUSRYT BT B

(a) Stem / g

(b) Root / 5T

(c) Petiole / ufeara

(d) Leaves/ ufrar

Mint plant produces / g&=T &7 diem UST &_aT 2
(a) Rhizome / 9&<

(b) Offset / sifwie

(c) Stolon / <rer=

(d) Sucker/ T areT

Which of the following is not a physical change?/
frfeRaa 9 9 @ &1 Wifas gRads T8l &7

(a) Boiling of water to give water vapour./ 9T &7
SEIREASCINECEIGIN

(b) Melting of ice to give water./ 9% &1 fUeeax
qT ST |

(c) Dissolution of salt in water./ 9=t # °& &1
oI T |

(d) Combustion of Liquefied Petroleum Gas
(LPG)./ a=efipa Ugiferz@ i (LPG) &1 T8 |
Strong heating of ferrous sulphate leads to the
formation of a brown solid and two gases. This
reaction can be categorised as:/ B W Bl e
AU Y& $RT I P [T & 3 qAT &I 4l Bl
foafor g1 21 39 Uik BT 59 TR aigd
foar < \adr €

(a) Displacement and redox. /fazerm= @ik RefaT |
(b) Decomposition and redox. /amaeres 3R YSfad |
(c) Displacement and endothermic. /fa=ema= iR
gerrfia |

(d) Decomposition and exothermic. /emeesT 3k
e |

Dilute hydrochloric acid is added to granulated
zinc taken in a test tube. The following

observations are recorded. Point out the correct
observation:/ W@l ¥ ol T qFRER e § a9
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104.

105.

106.

107.

gIgSIdallR® 317 Aemar Sirar ® | f=ferRad
JfaAP GOl Y Y & | el Al aamg:
(a) The surface of metal becomes shiny./ &rq &1
g THHER Bl oIl 2 |
(b) The reaction mixture turns milky./ ufcrfear
fArstor SforT &1 ST B
(c) Odour of a pungent-smelling gas is recorded./
TS Al T arell 39 B T 51 B T8 2
(d) A colourless and odourless gas is evolved. /
T TTEH iR T 9 fAafaa 2l 21
In the equation: Cu + XHNO; — CU(NO3), +
yNO, + 2H,0 the values of x and y are:/ F#HrexoT
% Cu+ XHNO; — CU(NO3), + yNO, + 2H,0
x IRy &AM &
(a) 3and 5/ 33k 5
(b) 8and 6/ 8 3R 6
(c)4and 2/ 43R 2
(d)7and 1/7 3R 1
When hydrogen chloride gas is prepared on a
humid day, the gas is usually passed through the
guard tube containing calcium chloride. The role
of calcium chloride taken in the guard tube is to/
9 3T faq W BESIo FRSS I IR &F
ST B, I BT AR R bfesrad daiRgs b
e @ A ORI A1l & | s =@ H fog 7y
HICTTH FARTSS Bl YT Bl ©
(a) Absorb the evolved gas/ fd&Ria =9 @7
S ENIINGRGN
(b) Moisten the gas/ =7 &1 8 &
(c) Absorb moisture from the gas/ 31 &1 =t &7
S ENIIGIG
(d) Absorb CL~ ions from the evolved gas/
Il I | Cl™ AT B AT BT &
Consider the following reaction:
xMnO; + yC,02~ + zH' > xMn?* + 2yC0, + (2/2)H,0
The values of x, y and z in the reaction are
respectively: / fFr=ifaRRad afafear w® faar &
xMnO; + yC,0%~ + zH' > xMn?* + 2yCO0, + (2/2)H,0
gfafssar # x,y &R z & A9 HH: &
(@) 5,2 and 16/ 5,2 3R 16
(b)2,5and 8/25 3k 8
(c) 2,5 and 16/ 2,5 3R 16
(d)5,2and 8/5,2 3R 8
Consider the reaction / 3rqamie R TR &
H,505(aq) + Sn**(aq) + H,0(I)

- Sn?*(aq) + HSO; (aq) + 3H*(aq)
Which of the following statements is correct?/
frafoaRad sl § 9 &9 w98 87
(a) H,S05 is the reducing agent because it
undergoes oxidation/ H,SO; 3qamis & Fifd I8
SITFRABROT | IOl §
(b) H,S05 is the reducing agent because it
undergoes reduction/ H, S0 39amdd § &ifh I8
3T ¥ I[oRAT B
(c) Sn** is the reducing agent because it
undergoes oxidation/ Sn** srueTa® € wifE I
SITRABROT | IOkl §

108.

1009.

110.

111.

(d) Sn** is the oxidizing agent because it
undergoes oxidation / Sn** Jffe=ftaRvr Toie &
Rifdp T ATRINBRY I IOl 2

To protect tooth decay we are advised to brush
our teth regularly. The nature of the tooth paste
commonly used is/ Gdi @ A4 ¥ AN & fog
g Faffia w5 9 <Al & 99 B @ Farg &
ST & | AR TR ST fhd S aTel iRe
@ Ui T 2?

(a) Acidic/ ar=irg

(b) Neutral/ Tewer

(c) Basic/ gf-ramet

(d) Corrosive/ HetRe®

A student puts a drop of reaction mixture of a
saponification reaction fist on a blue litmus paper
and then on a red litmus paper. He may observe
that/ v B3 ATg-IdReT afcfshar g1 & ufafsar
fAs1or @1 U g el fofeAad TR WR 3R R a1
foTeHd UiR WR ST & | 98 el FRIeTor 9
AhdT B

(a) There is no change in the blue litmus paper
and the litmus paper turns white./ el forenm TR
# PIg gRad= T8l BT § 3R forenwy IR d%e &
ST 2 |

(b) There is no change in the red litmus paper and
the blue litmus paper turns red./ @ret forewst Yo #
HIg URET T8l BT 8 3R e foedd TR ot
B ST B

(c) There is no change in the blue litmus paper
and the red litmus paper turns blue./ <fret forews
YR H HIg gRadd el Bl © 3R el foesd R
AT 81 ST & |

(d) No change in colour is observed in both the
litmus papers/ T=1 foews TR # 71§ B 95T
EEECICIRIDI

While preparing soap a samall quantity of
common salt is generally added to the reaction
mixture of vegetable oil and sodium hydroxide.
Which one of the following may be the purpose of
adding common salt? / |g= I F9T M AR W)
AT T IR AMSIH BESiRISS & Ufdfshar
fRsror % oIS AT H AR THG AR S 2
AR F94S e &1 3w f=falaa § & a9
T & AHhaT 2?

(a) To reduce the basic nature of the soap / 14
DI AR UPIA DI HH HIAT

(b) To make the soap neutral / |G &I dcwr
CRIEI

(c) To enhance the cleansing power of the soap /
TG B TS ARG BT gGM B forg

(d) To favour the precipitation of the soap / \Tg-
& IRV DI ATRHA I b foIg

Sodium hydrogen carbonate when added to acetic
acid evolves a gas. Which of the following
statements are true about the gas evolved?/ |ifsas
gISSIoF dIEi-e ®l URifed 3Fd H e R Tdh
™ e g1 fAaRa ™ & ar # f=feRad #
| D A BT I 27
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112.

113.

114.

115.

116.

1. It turns lime water milky. / I8 g1 & U=l &I
AT IR AT B

2. It extinguishes a burning splinter/ I)8 STerc g8
QU= $T g1 <l ©

3. It dissolves in a solution of sodium hydroxide./
T8 ARSI TSgiadss & O § gol Il 2 |

4. 1t has a pungent odour./ 39+ ! e g1 2.
(a) (1) and (2)/ (1) 3R (2)

(b) (1),(2) and (3)/ (1).(2) 3R (3)

(©) (2), (3) and (4)/ (2), (3) 3R (4)

(d) (1) and (4)/ (1) 3R (4)

According to the Rutherford’s atomic model, the
electrons inside the atom are/ I&X®IE & URATY]
Hige & TR, WA B 3HeX golds & 2 |

(a) Stationary/Rerr

(b) Not stationary/Rer =&}

(c) Centralized/@sad

(d) None of these/ 7% &1 ®13 w81

The significant result deduced from the
Rutherford’s scattering experiment is that/ JGI®IS
@ DO WANT | W Heaqel aRemd I8

(a) Whole of the positive charge is concentrated at
the centre of atom/ Yol =TT 3TTaRT URATY &
®HE W dfad BT 8

(b) There are neutrons inside the nucleus/ AT¥® @
3eR =Yg B §

(c) a — Particles are helium nuclei / a— o
Bifergd v €

(d) Electrons are embedded in the atom/ setag=
oA # sfafifed g &

Rutherford’s atomic model was unstable because
RGBS BT YA Hid ARLR o Fifds

(@) Nuclei will break down / Te € STgm

(b) Electrons do not remain in orbit/ Seiasia Hel
H 81 &d ©

(c) Orbiting electrons radiate energy/ TReHT B
BU Solagid $Holl IcArd R &

(d) Electrons are repelled by the nucleus/ setagi=
e g1 ufdefia g 8

The Concept of stationary orbit was given by:/
ReR Fem @ sf@auRo fFas gRT & g o1

(a) Neil Bohr /<iret TR

(b) 3 Thomson/ STS1. ff=a=

(c) Ruther ford/ Yex®I

(d) More than one of the above/ SWRIad % | U
NECIEEY

One of the major events of Ashoka’s reign was
the convening of the Buddhist Sangha
(Council) in 250 BCE in the capital pataliputra./
3eMNP & ATAFABI Bl T T3l § A Uh
RIS Urefolgd # 250 g1 qd 4 alg
g (TRYE) &7 AT o |

(a) Third / frer$

(b) Fourth/ =ter

(c) Second/ g&=T
(d) First/ gerd

117.

118.

1109.

120.

121.

122.

Who among the following rulers is called the
“Napoleon of India’?/ fm=feiRaa # & fra wmds
DI WRA BT AT’ BT ST 87

(a) Bindusara / fdgar

(b) Chandragupta | / <7< oA

(c) Samudragupta / FggI<

(d) Ashoka/ 37eTre

It was under the reign of that the Mughal
Empire reached its peak in matter of area under
the Mughal empire. /aE @ ANAIHTA B TEd

o7 & T AT & Ted &F b Al H gId
AT AU IRA TR Ugd AT o |

() Shah Jahan / =mgsisT

(b) Akbar / srFaR

(c) Jahangir/ StEfiR

(d) Aurangzeb / JiRTorg

In which battle was siraj Ud- Daulah defeated by
Lord Clive?/ RRISISE—3lel & dfe dargd = fdd
IE ¥ T AT?

(a) Battle of Plassey / wI_il &1 gg

(b) Battle of Buxer / IRR &I <8

(c) Battle of Panipat/ar=iad &1 <S8

(d) Battle of Haldighati/ge<rardl &1 gg

Which one is the correct chronological order of
the following events?/ f=ifeiRaa el &1 w&l
HTATIHHD HH DI AT 57

I. Quit India Movement / YRd TSI aTel

1. Shimla Conference / e T

I11. Poona Pact / g1 tae

IV. Cabinet Mission / &fdwe fire=

@11, 1V, 1, 111
(b) 11, 1V, 11, |
) 1, 1, v
(d) v, 11, i,
According to the categories of land mentioned in
the Chola inscriptions --------- was known as the

land gifted to temples? / @ret Rrereral # SfeaRad
A B AR & JFAR ARl PI IUBR H & T8
9 BT el ST oAr?

(a) Vellanvagai / deetarTs

(b) Brahmadeya/ s&mea

(c) Shalabhoga/ et

(d) Devadana/ <a<T=

Match the following:/ fer=feria

d & e &

Social Reform Movement Founder

AT GER ATerel TR D

1. Arya Samaj a. Raja Ram Mohan
Ray

SIpEEIN] RISTT T HIET I

2. Brahmho Samaj b. Dayanand Saraswati

EEIIEIN] AT HREA

3. Veda Samaj c. Atmaram Pandurang

EEASEIN SIINGRIRS]

d. Keshab Chandra Sen
and K. Sridharalu Naidu
P g AT AR B
sfeRg TIg

4. Prathna Samaj
PISEIREEIN

(@) 1-b, 2-1, 3-c, 4d
(b) 1-b, 2-a, 3-d, 4-c
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123.

124.

125.

126.

127.

(c) 1-a, 2-b, 3-d, 4-c

(d) 1-b, 2-d, 3-a, 4-c

How many Mahajanapadas were located in
present — day of Uttar Pradesh among the oldest
sixteen Mahajanapadas of India?/ TRT & H&d
QR Wlele Aeloual § 9 aaAr SO uee |
o AeToug Rerd o7

(a) 06

(b) 07

(c) 08

(d) 09

Who among the following never presided over a
session of the Indian National congress?/
fr=fefRad & 9 fras & IRAT IS B9 &
el | @I eerar A8l dr?

(a) Lala Lajpat Rai / <TTeT1 ofrotud 1>

(b) Bal Gangadhar Tilak / 91t TI7TeR foretd

(c) Gopal Krishna Gokhale/ 3TraTel ™1 T

(d) Subhash Chandra Bose / 419 @5 a4
Consider the following events and arrange them in
chronological order. / fr=faRad aemi w =R
PN IR IT BIAIHAD HH H FARIT BN |

1. The foundation of the Gadar party/ ez arct @
YT

2. Chittagaon Armoury Raid/ ZIetid IR BT
3. Set up the “Indian Independence Committee” in
Berlin/ afeiq # “wRcia wad=ar |fafa” a1 o
Eal

4. Central Assembly Bomb Case/ ¥get aridei a4
IR

Select the correct answer from the code given
below:/ == fag Y ®rs | WEl IR T

Codes:/ ®rs:

(@) 3,1,2,and 4/ 3, 1, 2, 3R 4

(b)1,3,2and 4/1, 3, 2 3R 4

(©)1,3,4and 2/ 1, 3, 4 3R 2

(d)3,1,4and 2/3, 1, 4 3R 2

Which of the following statements are correct
regarding prices and measurements during the
Gupta period?/ @ &l & IR DIl IR AT &
Ader # frfaRad § 9 19 91 HUF 98 87

1. Guptas tried to fix the prices./ @il = B
T A DI DI @ |

2. Prices fluctuated according to supply and
demand./ 3Tl SR AT & FFAR P §
IAR—TGIT BT 3T |

3. Not only prices but also units of measurements
varied from place to place./ 7 dae &1 dfed
A B gHTSAT W STT—TeT STTel R fA=—f=
o |

Select the correct option from the codes given
below:/ 71 faw U e # | F& fAweq T+

(@) Only 1/ @aat 1

(b) Only 1 & 2/ @da 1 3IR 2

(c) Only 2 & 3/ &aa 2 3R 3

(d)1,2&3/1, 23R 3

In which place Dhamek stupa is located at?/ e/
U fre I W) Rerq 8?

(a) Bodh Gaya/ drermn

128.

129.

130.

131.

132.

(b) Sachi/ &r=i

(c) Sarnath/ |R=Ter

(d) Kaushambi/ @reridt

Who established the Sun temple of konark?/
DTS & I AR B WAOAT et b7

(a) Narasimhadeva | / T=RRrg<a wem

(b) Purushottam Dev/ g&uIH <a@

(c) Ananta varman chodaganga deva/ 3rd a#+
I <

(d) Kapilendra deva routaray/ &fieis <@ IR
Who was the ruler of Delhi at the time of the
battle of Buxar?/ R & J§ & T9d el &1
IANIH I AT?

(a) Aurangzed / 3iToTS

(b) Shah Alam 1/ 28 3Te™ Berd

(c) Bahadur Shah Zafar/ sgTgr 218 STHR

(d) Shah Alam 11/ =g s1merd fgdia

Which one of the following is the correct
chronological order of the battles fought in India
in the 18th Century?/ 18df wraTes! # 9Ra H @<
TS ASISAl BT fAfalRad § & B9 A1 |8
BHTATIHHG A 87

(a) Battle of Wandiwash-Battle of Buxar-Battle of
Ambur-Battle of Plassey/ if$aresr & TeRE—aaR
Pl ASTS—IFR Bl ASTS—lNI Bl TS1S

(b) Battle of Ambur-Battle of Plassey-Battle of
Wandiwash-Battle of Buxar/ 3igR @1 &s8 —
I BT SIS — difSdrel & dsls — gaaR Bl
oIsTg

(c) Battle of Wandiwash-Battle of Plassey-Battle
of Ambur-Battle of Buxar/ ai€rarer & derg—er=il
D TSR DI ASR—TTIR DI Slg

(d) Battle of Ambur-Battle of Buxar-Battle of
Wandiwash-Battle of Plassey/ 3iR &1 T8
—JRR P ASTS —dlSIde B dsls —I=Il &I
ENH

Till now, the Preamble to the Constitution of India
has been amended for how many times? / 319 &
ARd & Afde & gz | fhad IR deee
o ST ger &7

(@) Once /T IR

(b) Twice / a1 IR

(c) Thrice / &= IR

(d) Never/ &1 &1

Which among the following statements is
incorrect? / fF=ifaiRad # & ®I9 AT HUF TTolad 27
() The objective resolution passed by Pt. Nehru
was what became the Preamble to the Constitution
of India./ 4. grT WRT aRI U= | 8w &I
IR & AL & IRaa a9 |

(b) Preamble is enforceable in the court of law. /
TRATT Jf&TAd H o HR AT & |

(c) Preamble has been amended only once in
1976. / 91T # ®adt TH q1R 1976 H HeH
foram ar 21

(d) Preambles proves that the sovereignty lies
ultimately with the Indian People/ g=ara=T warfad
Fel B f e siaa: R @il & U @
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133.

134.

135.

136.

137.

138.

139.

Which of the following Articles of the Indian
Constitution contain the Right to Religious
Freedom?/ wReira <fdem & f=foRaa # 9 fas
Igeve H oTie WAad BT ANGR AHA 87

(a) Articles 25-18/ 3= 25—18

(b) Articles 29-30/ arges® 29—30

(c) Articles 32-35/ 3= 32—35

(d) Articles 23-24/ srgess 23—24

Which Article of the Indian constitution abolishes
Untouchability?/ 9=eira faem 1 #19 ar1 sgeos
SRYTAAT BT FAT FRAT 57

(a) Articles 18 / srJ=us 18
(b) Articles 15/ srgeais 15
(c) Articles 14/ a/7=65 14
(d) Articles 17/ srgzss 17

Which of the following is correct with respect to
“Right against Exploitation”?/ "2y & fIog
AR & day # F=falRed # & @9 a1 9 87
(a) Prohibition of traffic in human beings and
forced labour/ A a¥H<r 3R STaRA 519 W Ufaaer
(b) Freedom as to payment of taxes for the
promotion of any particular religion/ fa=ft fazry
gH & TAR & oI BRI & YA & ey H Tzl
(c) Protection of interests of minorities/ reqiegai
& f2dl ®r gRe

(d) Equality before the law/ &< & FHeT T
How many states are covered by the pilot project
for the "World's Largest Grain Storage Plan in
Cooperative Sector"?/ “Hg®RI &3 H favg @ Ja¥
TSI IS HSRUT o1 & UrIcle Uiolde # fhdd
R BN re I

(a) 11 States/ 11 15T

(b) 9 States/ 9 =¥

(c) 13 States/ 13 =g

(d) 15 States/ 15 5"

What is the primary focus of the initiative
"Vantara" launched by Reliance Industries and
Reliance Foundation?/ Remid seiioT 3R Rerd<
BIRESYE §RT Y I g U “IaRT” BT Irifid
BIHT FT 8°

(a) Environmental Conservation/ gafa=or Refor
(b) Healthcare for Rural Communities/ gt
|l & fofg ey Jar

(c) Education for Underprivileged Children/

dferd q=at & forg e

(d) Animal Welfare/ 93 &earor

In which institutions did the government launch
the 'Mera Pehla Vote Desh Ke Liye' campaign?/
TRBR - R Ul dic Q¥ & oy’ A foe
TRl #§ Ferar?

(a) Higher Educational Institutions/ S=a 2eifores
RIS

(b) Primary Schools/ ureifie faemera

(c) Government Offices/ SR&RI wrafa™

(d) Religious Institutions/ enfie e

Which state plans to introduce a bill holding
rioters liable for damages to public and private
property?/ ®IF T 5T Sl Bl AT AR

140.

141.

142.

143.

144.

145.

sl |uftr & JHam & foly SRS Sexr arell
faerTes T FHRA BT IS 941 J@T B?

(a) Uttar Pradesh / ST waer

(b) Haryana/ gRarom

(c) Punjab/ usirg

(d) Uttarakhand/ S<Rrars

Who smashed the fastest T20 International (T20I)
century in cricketing history?/ fhae sfosra #
I Aol T20 IR (T201) erae foasy qaran?
(a) Kushal Malla/ geret Hiee

(b) Rohit Sharma/ 3rfd 2T

(c) Jan Nicol Loftie-Eaton/ 5= fAaret
AMFEI—ge

(d) David Miller/ Sfas fieR

Which country recently inaugurated the world's
third-largest mosque, known as the Grand
Mosque?/ BT &1 ¥ b <=1 =1 gierm &1 <
9N g1 ARSI &1 IgEred fhar, (i 3w aRkarg
@ A ST ST 77

(a) Morocco / ARa!

(b) Egypt/ fia

(c) Algeria / srestiiar

(d) Tunisia / SRR

Who recently received the 2023 GD Birla Award
for Scientific Excellence?/ gTa & # Jsf® IH
el & ey 2023 ST fdsell REPR 6y Har?
(a) Dr Rajeev Kumar Varshney/ i. Irsita AR
Uy

(b) Dr Narayan Pradhan/ i sIRTI0T ger=

(c) Dr Suman Chakraborty/ ©f. a1 @shadit

(d) Dr Aditi Sen De/ €t sifefa 991 S

Who recently made history by becoming the first
woman Chief Minister of Punjab province in
Pakistan?/ g/t & # difd’a= H S did &1 ugell
Al g g ax e sfoes <@

(a) Begum Nasim Jahan/ <78 == <Taf

(b) Maryam Nawaz/ #R&¥ Farst

(c) Zahida Sultana/ STf2aT e

(d) Shehla Raza/ S oI

With which country has the Union Cabinet of
India approved a Memorandum of Understanding
(MoU) to foster collaboration in the hydrocarbon
sector?/ IRd & Hard "HSd 7 sgSIhET &7 §
HEAN BT 9T o1 & foly fFd 2 & A1 T
|Hsiar s (MoU) &l #odr &1 87

(a) Brazil/ smsiret

(b) Venezuela/ a=rsjuar

(c) Guyana/ T

(d) Nigeria/ Airgsiiiar

Who is the author of the book 'Sanskriti ke
Ayaam' released by General VK Singh?/ SR
9 Rig gN 9N §Wd GG & AT & g
DI 87

(a) Manorama Mishra/F=iReT s

(b) R.K. Narayan/aiR.@. FRToT

(c) Ruskin Bond/RR¥w=1 df<e

(d) Vikram Seth/fdss ¥s
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146.

147.

148.

149.

Consider the following pairs regarding the Gl tags
and their respective State/UTs/ GI 27 iR 3+&
efSrd T /B RIT T & Feg H fA=ferlad
Shifeal oR faR &

Gl tags States/UTs
Gl & 5T /g SAa Jae
1. Kotpad Garments West Bengal
2. Pochampalli Ikat Andhra Pradesh
UrerFTee, 3Tty e
3. Khandua Sari Odisha
[CERINSIS anfee
4. Risa Textile Maghalaya
91 RIS A T

How Many pairs given above are correctly
matched?/ SR fay 77 fhaw S &1 gAford &7
(a) Only one/ &aa T&®

(b) Only two/ @aet <1

(c) Only three/ @aa =

(d) All four/ 41 =R

Consider the following countries/ f=ferRaa <=
R AR &

1. Azerbaijan/ sroRaSIH

2. Russia/ =1

3. Malaysia/ #ifRrm

4. Oman/ 3=

5. Kazakhstan/ &siifeer

6. Mexico/ #fdRaaT

7. Brunei/ g

How many of the above mentioned countries are a
part of OPEC+7?/ Wb SfeatfRaa <= # 9 faraw
<9 OPEC + &1 fewn €7

(a) Only four/ &aet @R

(b) Only five/ ®aar di=

(c) Only six/ dae B8

(d) All seven/ =1 Td

Recently, ‘Iris and Massalia’ was in the news.
They are types of/ g1 €1 # MgR¥ Ts Hurferm
gt § o7 | 9 YBR & 8

(a) Exoplanets / gaaeite

(b) Asteroids/ gzug

(c) Moons of Saturn/ oIy @& =g

(d) Comets/ gag

Consider the following statements/ fer=ferRad
FHUA W AR N

1. Tax incentives to foreigs businesses to utilise
the rupee in operations in India./ fa<e el &1
ART # gRATe H 0 BT SN B & oIy o
HICATE |

2. RBI should pursue a more liquid rupee bond
market./ RBI & 1fSd oRal AT d1S dI6TR Bl
3T § T =Ty |

3. Indian exporters and importers should be

encouraged to invoice their transactions in rupee./
IR fafael iR smarde! & 9 # i o e
B a1 I @ forg urearfea fasar S =anfey |

150.

4. India signing Currency swap agreements with
other countries./ RS 3= <2 & |1 ga1 fafe
AR UR EXER Y V&l B |

5. Rupee must be made more freely convertible./
U Bl fE s ®U ¥ aRad g g9 ST
ey |

How many of the above statements can help in
internationalisation of rupee?/ SWRIs # & fare
P TIT B AR IIBRIT § HEE B Abdl 27
(a) Only two / ®aet a1

(b) Only three/ @aa &=

(c) Only four/ &aa @R

(d) All five/ =+t di=r

Recently, Election Commission of India started
the ‘Mera Pehla Vote Desh Ke Liye’ campaign
with which ministry?/ g/e1 €1 #, ¥Ra faraa
JMANT 7 {5 HATT & A1 AT Ugell dIc < &
forg’ i g faa?

(a) Ministry of Education/ Rt #=rera

(b) Ministry of Home Affairs/ g #=1e1a

(c) Ministry of Corporate Affairs/ ®iuRe ARl &7
qATTT

(d) Ministry of Defence/Rerm #=re1d
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Deﬂﬁnce ﬂGurum

NDA 2 2025 GAT SAMPLE QUESTION PAPER
ANSWER SHEET

1. A 31. D 61. B 91. A 121. D
2. C 32. B 62. B 92. C 122. B
2 D 33. A 63. A 93. C 123. C
4. C 34. C 64. B 94. C 124. B
3 A 35. A 65. B 25y B 125. C
6. C 36. D 66. B 96. D 126. C
7. A 37. B 67. | A&D | 97. A 127. C
8. A 38. D 68. A 98. C 128. A
9. C 39. A 69. D 99. A 129. D
10. D 40. C 70. C 100. B 130. B
11. A 41. D 71. D | 101. D 131. A
12. A 42. C 72. D |102. B 132. B
1.3. B 43. D 13: C 103. D 133. A
14. C 44. A 74. A | 104. C 134. D
15. D 45. B 75. C 105. C 135. A
16. C 46. B 76. D | 106. C 136. A
17. C 47. D 77. A | 107. A 137. D
18. D 48. B 78. C 108. C 138. A
19. B 49. D 79. A | 109. C 139: D
20. C 50. A 80. B 110. D 140. C
21. B 51. C 81. D |111. B 141. C
22. A 52. B 82. A 112 B 142. D
23. C 53. B 83. B 113. A 143. B
24. A 54. C 84. D |114. B 144. C
25. D 55. C 85. B 115. A 145. A
26. B 56. B 86. A | 116. A 146. A
217. A 57. C 87. C 117. C 147. D
28. D 58. A 88. A | 118. D 148. B
29. A 59. B 89. D | 119 A 149. D
30. C 60. B 90. B 120. C 150. A
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